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Y Question Paper Code : C 1586

BB/ Toch. DEGREE EXAMINATION, APRILAMAY 2010,
Second Semestor
Elctrical and Eletronics Enginecring
EE 1151 — ELECTRIC CIRCUIT ANALYSIS

(Common to Blectronics and Instrumentation Engincering, Instrumentation and
‘Control Engineering)

(Regulation 2004)

Time : Three hours Maximum : 100 marks
Answer ALL questions.

PART A — (10 2 = 20 marks)

1. What are passive parameters and write down the V-1 relationship of cach
passive clements?

2 State Kirchoffs law.
3. Define settin time

4. Differentinte source free response from forced response.

5. Draw the power triangle and impedance triangle for the R.C, serie circuit
6. Give the significance of quality fctor.

7. State maximam power transfer theorem.

5 Write the merits and demerits of nodo analysis.

What is meant by dot convention?

10, Define the term pawer factor.
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1L @ Define average value, Rms value, form factor and peak fuctor. Derive the
expressions for the above terms for a purely sinusoidal alternating
quantity. a6)

or

() () Find equivalent resistance between points AB in Figure L. (8)

Figure 1
(i) Using suceessive source transformation, find the voltage across 10
resistor between a and b shown in figure 2. )

Figure 2

Obtain the.

12 () @ Inthe circuit shown in figure 3 switch is closed at t

cxprossion for the carrent i irent and fnd Fat ¢ 2025 e (10)
[
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Figure s
5 Obtain the Lapce ransform of it amp function. ©
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2 C 1586



[image: image3.jpg]13,

10

»

@

»

@

© Find driving point impedance Y- for the neiwork shown in the

figure 4. a0

gure 4
(@) Write the significance of poles and zeros ©
@ A sories RLC circuit consists of 50 9 resistance, 0.2 H inductance

and 10 #F capacitance with applied voltago of 20 V. Detormne
resonant frequency. Find Q factor of the circut, Compute the lowoy.

end upper frequency limits and the bandwidth of the cireuir. (10
@) Define active power, reactive power and apparent power. ©
or

he waveforius of the vltage and cureent of  cireuit are givon by,
€=120sin(@141) and =10 sin314 1+ Caleulate the values of thy

resistance, capacitance which are conmected in sories to form the cireuit,
Also draw waveforms for current, voltage and phasr diagram. Caleylas

e
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) For the cireuit shown in figure 6, determine the lond current I,
using Norton's theorem. a0

oy

Figure 6

(i) Write down the steps to solve the circuit using thevenin's theorem.
[C}

@) The number of tums in two coupled coils are €00 and
1200 respectively, When a current of 4A flows in coil 1, the total
flux in coil 1 is 0.5 wh and the fux linking coil 2 is 0.4 mwb.
Determine the self inductances of the coils and mutual inductance
between them. Also calculate coefficient of coupling. (10)

() Two identical caill with L = 0,03 H have a coupling coefficient of
K = 0. Find mutual inductance and equivalent inductanco with
the coils connected in series opposition mode. ©

or

) A B-phase, 220 V, 50 Hz, 11.2 KW induction motor has a full load
efficiency of 88 percent and draws @ line current of 38 Amps under
full load, when connceted to 3-phase, 220 V supply. Find the
reading on two wattmeters connected in the circuit to measure the
input to the motor. Determine also the power factor, at which the
motor is oporating. a0

i) State the advantages and disadvantages of two wattmeter method
®

4 ©1586





